K872 OAKG

»HARMAN

SERVICE MANUAL / # 3458X00050/ 05/17

AKG CUSTOMER SERVICE DEPARTMENT / Laxenburger Strale 254 / 1230 Vienna, Austria
TEL: +43 1 866 54-0/ FAX: +43 1 866 54-1514 /service@akg.com / www.akg.com

1/2


mailto:service@akg.com
http://www.akg.com/

K872 OAKG

»HARMAN

SERVICE MANUAL / # 3458X00050/ 05/17

Parts list / Stiickliste

. Part number uant. .

Description Pos. Bestellnummer %wck Bezeichnung
Headband 1 5035097 1 Bligelband
Release button 3 5034652 2 Ausléseknopf
Spring 4 5041593 2 Feder
Ratchet 5 5034152 2 Rastung
Arrestor 6 5034149 2 Arretierung
Cushion 8 5079958 2 Polster
Sealing ring 7 5071196 2 Dichtungsring
Screw Ejot PT18x7 9 5036128 16 | Schraube Ejot PT18x4
Transducer assy. 10 5064843 2 Wandler
Pressure ring 11 5065708 2 Druckring
Ear cup assy. 12 5079961 2 Kappe kompl.
Screw Torx M3x6 (T6)** 13 5039562 8 Schraube Torx M3x6 (T6)**
Kardan ring 14 5042866 2 Kardanring
Distance ring 15 5036295 8 Distanzring
Speaker plate assy. 16 5079960 2 Kapselhalter
Bow assy. compl. 17 5065870 1 Bigelgruppe kompl.
Screw Torx M2x4 (T5) 19 5039560 4 Schraube Torx M2x4 (T5)
Screw Torx M2x5 (T5) 20 5039561 6 Schraube Torx M2x5 (T5)
Damping ring 21 5072984 2 Dampfungsring
Seal 22 5064704 2 Dichtung
Cable 3m 23 5036299 1 Kabel 3m
Cable 1,4m (optional available) 23 5046080 1 Kabel 1,4m (optional erhéltlich)
Adapter 3,5-6,3mm 24 0018E03350 1 Adapter 3,5 - 6,3mm
Carrying case 25 5068798 1 Tragetasche
Ear cushion tool 26 5074680 1 Hilfswerkzeug fur Ohrpolster

Remarks:

** The screws (13) must be secured with Loctite 243 threadlocker.

"

350

AKG CUSTOMER SERVICE DEPARTMENT / Laxenburger Strale 254 / 1230 Vienna, Austria
TEL: +43 1 866 54-0/ FAX: +43 1 866 54-1514 /service@akg.com / www.akg.com

2/2


mailto:service@akg.com
http://www.akg.com/

